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QUESTION 1

Given that one Tunnel Boring machine could build 1,000 m of tunnel a month and the Tunnel is 50 km long, how fast
could the Tunnel have been built using two Tunnel Boring machines if there had been no delays? 

A. just over 2 years 

B. just under 5 years 

C. about 1 year 

D. just over 4 years 

Correct Answer: A 

 

QUESTION 2

Which of these expresses 33/80 as a decimal? 

A. 0.345 

B. 0.4125 

C. 4.125 

D. 0.0412 

Correct Answer: B 

 

QUESTION 3

A map has the scale of 4 cm to 1 km. 

What is the actual area of a lake on ground which is represented as an area of 60 cm2 on the map? 

A. 3.75 cm2 

B. 3.75 km2 

C. 0.26 km2 

D. 15 km2 

Correct Answer: B 

 

QUESTION 4
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How much more rain did Albany receive than Bunbury on the third of the month? 

A. 0.30 inches 

B. 0.25 inches 

C. 0.35 inches 

D. 0.55 inches 

Correct Answer: C 

 

QUESTION 5

A football player scored the following number of field goals in eleven games: 

1, 0, 0, 2, 2, 0, 1, 2, 3, 1, 2 

What is the modal score? 

A. 0 

B. 3 

C. 1 

D. 2 

Correct Answer: D 

TEAS-SECTION-3 VCE
Dumps

TEAS-SECTION-3 Practice
Test

TEAS-SECTION-3
Braindumps

Powered by TCPDF (www.tcpdf.org)

TEAS-SECTION-3 VCE Dumps | TEAS-SECTION-3 Practice Test | TEAS-SECTION-3 Braindumps                               3 / 3

https://www.pass2lead.com/teas-section-3.html
https://www.pass2lead.com/teas-section-3.html
https://www.pass2lead.com/teas-section-3.html
https://www.pass2lead.com/teas-section-3.html
https://www.pass2lead.com/teas-section-3.html
https://www.pass2lead.com/teas-section-3.html
http://www.tcpdf.org
https://www.pass2lead.com/teas-section-3.html
https://www.pass2lead.com/teas-section-3.html
https://www.pass2lead.com/teas-section-3.html

